
71.0

Overall

74.5

Overall

39

Overall

17.0 17.0

72 Ref.

Overall with Typical Bicycle

46.0

Typ.

46.0

Typ.

12.0

Plinth

Twin-Tray

Upper Unit

Twin-Tray

Lower Unit

Twin-Tray

Lower Unit

Twin-Tray

Lower Unit

Twin-Tray

Upper Unit

Upper Unit

Support Plinth

X-Brace

Bar

Diagonal

Brace

Diagonal

Brace

62.5

Overall

Lower

Post

88 Ref.

Overall

with Bike

74.5

Overall

Upper

Post

100 Ref.

Overall

with Bike

1-844-888-9999
www.gogreenspoke.com

Twin Topper

Bi-Level Bike Rack System

6-Bike Starter Module, Model: 851250-6

4-Bike Add-On Module, Model: 851250-4A

- Specifications -

Sheet 2 of 3 (Module Assembly Guide)

Dimensions shown are in inches.

Rev.: 04Oct23

72 Ref.

Overall with Typical Bicycle

12.0

Offset

12.0

Offset

X-Brace

Bar

Top View

39.0

17.0

17.0

17.0 17.0

Twin-Tray

Upper Unit

Twin-Tray

Lower Unit

X-Brace

Bar

Diagonal

Brace

Diagonal

Brace

X-Brace

Bar

4-Bike Add-On Module

Model: 851250-4A

6-Bike Starter Module

Model: 851250-6

TwinTopper

Diagonal

Brace

Diagonal

Brace

X-Brace

Bars

X-Brace

Bars

Diagonal Brace Hardware:

3/8-16 x 1" Carriage Bolt

with Nut & Washer,

4 Places per Brace

Tray & X-Brace Hardware:

1/2-13 x 3.5" Carriage Bolt

with Nut & Washer,

3 Places per Tray

Tray to Support Plinth Hardware:

3/8-16 x 1" Hex Bolt

with Nut & Washers,

2 Places per Plinth

Upper

(Tall) Post

Lower

(Short) Post

Lower

(Short) Post

Upper

(Tall) Post

Lower

(Short) Post

Bike Tray

Bike Tray

Bike Tray

Bike Tray

1/2-13 Drop-In

Anchor Location

Bike Tray

Diagonal Brace Hardware:

3/8-16 x 1" Carriage Bolt

with Nut & Washer,

4 Places per Brace

Tray to Support Plinth Hardware:

3/8-16 x 1 Hex Bolt

with Nut & Washers,

2 Places per Plinth

X-Brace Crossover

Point Hardware:

3/8-16 x 3" Hex Bolt

with Nut & Washers,

1 Place per Upper Post

1/2-13 Drop-In

Anchor Location

1/2-13 Drop-In

Anchor Location

Diagonal Brace

Diagonal Brace

6-Bike Starter Module Assembly Order:

1) Attach Bike Trays to Lower (Short) Posts.

2) Attach Bike Trays to Upper (Tall) Posts.

3) Attach Support Plinth to Lower Tray on Upper (Tall) Posts.

4) Attach Diagonal Braces.

5) Attach X-Braces (Removing and Replacing Nuts, As-Required.

4-Bike Add-On Module Assembly Order:

1) Attach Bike Trays to Lower (Short) Posts.

2) Attach Bike Trays to Upper (Tall) Posts.

3) Attach Support Plinth to Lower Tray on Upper (Tall) Posts.

4) Attach Diagonal Braces and Link Modules,

(Removing and Replacing Nuts, As-Required).

5) Attach X-Braces and Link Modules

(Removing and Replacing Nuts, As-Required).

2.25 Inside Width

Standard Bike Tray

Side View

Support

Plinth

Support

Plinth


	Sheets and Views
	Model


